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1.]20%] Determine the force in members EF and G/ of the truss shown.
28 kips 28 kips

F| 0

8t ° 8ft = 8fit = 8ft

3. [20%] Draw Mohr’s circle that describes each of the following states of stress.
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60 MPa l 10 MPa

30 MPa

45 MPa
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3. [20%] An aluminum bar 4D has a cross sectional area of 4 = 300 mm” and is
loaded by forces. Knowing the normal strain of segment CD is ecp= 0.00037,

calculate the modulus of elasticity £ and the elongation 8z ~ 8¢ and dp.
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4. [20%] The compound beam 1is fixed at 4, pin connected at B, and supported by a
roller at C. Draw the shear and moment diagrams for the beam.

S kN

1 kN/m

5. [20%] A 200-kg cylinder is hung by means of two cables AB and AC , which are
attached to the top of a vertical wall. A horizontal force P perpendicular to the wall
holds the cylinder in the position shown. Determine the magnitude of P and the
tension in each cable.
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